HOW TO SOLVE FOR AREA AND PERIMETER OF SHAPES

PERIMETER
· Rectangle 
(L+L+W+W) = (L x 2) + (W x 2)
 (
Add 8 + 8 because they’re two sides which have 8cm. (Do the same with the 6cm)
Add the sum of the width to the sum of the length
Answer is 28cm 
) (
                     8 cm             
                                           6cm
)



· Square
(s+s+s+s) = (s x 4)
·  (
      3cm 
)Since they’re four equal sides, you have to add the same measurements four times.
· Answer is 12cm
· Goes same with pentagon except times it by 4

· Triangle
(b+h+h) 
 (
Just add them all
Answer is 19cm
)
 (
5cm
) (
5cm
)                                     

 (
9cm
)

· Parallelogram
(w x 2) + (h x 2) 
 (
3 times two, 6 times two, and add them all together
Answer is 18cm
) (
6cm
) (
3cm 
)
